
 



  

    

  

T1 Sycamore, Trim clear of the BT 

cables and telegraph pole to create a 1m 

clearance.  

T2+3 Laburnum and Sycamore, Trim 

clear of the BT cables to create 50cm 

clearance. 

T4 Laburnum, Laetiporus FFB on the 

main stem at 1m, extensive dieback of a 

large proportions of the crown, Fell to 

near ground level. 

T5 Spruce, Trim clear of the BT cables 

to create 50cm clearance. 

 

T6 Malus, Reduce to 4.5m in height 

and reshape, removing approximately 

60% of the canopy. 

G7 Pine, Crown raise to provide a 2.5m 

clearance from ground level and prune 

away from the adjacent BT cable to 

create a 30cm clearance. Prune clear of 

neighbouring residence to create 1m 

clearance, remove major deadwood.  
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